Total No. of Printed Pages—27

1 SEM TDC FACC 3 (G/S) (N/O)

2015

( November )

COMMERCE
( General / Speciality )

Course : 103
( Financial Accounting )
The figures in the -margin indicate full marks
for the questions
( New Course )

Full Marks : 80
Pass Marks : 24

Time : 3 hours

1. (a) Fill in the blanks : 1x4=4
e 31 /G A
(i) Balance Sheet is also known as
Statement.
g8 AdITE f33fS Ffere & 7w |
() In hire-purchase system, the buyer
charges depreciation on price.
SIG-FY TROS (FO1R YA 89S
w58 4 T |
( Turn Over )
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(2)

(ii) Royalty Account is closed by
transferring to Account.

ot come SR 399 RBoiel @@

A
(iv) Branches are generally classified
into ____ types.
PR AERIe _ ooNe [
ERLERE
(b) Write True’ or ‘False’ : 1x4=4
S @ “fey o

(i) Profit & Loss Account shows the
financial position of a concern.
oS W (oM =i AfedE @
el s orEm |

(i) Profit on repossession of goods
sold on hire-purchase system is a
capital profit.

SIY-F MRS 9 22T 0 AR [
T} il 791 aTee T = I @@l
XN

(i) Shortworking is the excess of
minimum rent over actual royalty.
Mo SeoArE (3 4T FeIIOld fAgew
UG IS SO |

(iv) In Departmental Accounts, each
department is considered as a
separate profit centre.
ferii fZerere aifechr s air 42
ars % et e w12

P16/134

( Continued )

(3)

2. Write short notes on (any four : 4x4=16
& GBrt feran (R e wif<)
(a) Accounting Standard Board set up in
India
SrRede afefe Bore-fm Tme o
(b) Termination of hire-purchase agreement
oS1-aY pied e
(c) Goods-in-transit
SIBILS 4F] AR
(d) Principles of allocation of common
expenses among departments
Repiza TS AURT @I oA 40
0 {
{e) Shortworkings
q1f6 SeAm
3. (@) What do you mean by ‘Accounting
Standards’® Mention the procedure
for issuing Accounting Standards.
Distinguish between - Accounting
Standards and Accounting Principles.
2+6+6=14
“fapo-fmma w9 qfetca & @2 2o
T 2R i Soay 391 | Bee-Ram gme
o ol MfenE e 4F qrewz
TTAY 41
P16/134 ( Turn Qver )



(4)

Or / <41

(b) The following is the Trial Balance of Ajay
and Bijay, a partnership firm as on 31st

March, 2015 :
e W e b1 S AfedEE 2015
53 31 Wb Tgw fieeie wers frul 27
Trial Balance / 5@ fsw9q
Debit Balances 4 Credit Balances L4
Opening Stock 24,500 General Reserve 38,000
ARRF A MR %
Machinery 50,000 Reserve for
et Doubtful Debts 500
RaELTER L
Purchases (adjusted) 1,30,000 Sales 2,35,000
T () Rral
Salary 10,000 Sundry Creditors 33,700
9z 3y ~neamr
Wages 14,000 Ajay’s Loan 8,000
EETE] (Taken on 01.10.2014)
TEHq A
(01.10.2014 SIRTY ETRI)
Buildings 60,000 Bills Payable 9,350
©qq @@ =
Insurance 500 Bad Debts
A Recovered 450
SR A TFA
P16/134 ( Continued )

Debit Balances
b f#fS
Freight
e Si%l
Conveyance
SRS A

Carriage Inwards
e Afdas
House Rent
ISl
Returns Inward
faa firae
Carriage Outwards
RIESECISIE
Sundry Debtors
fafy ¢
Bills Receivable
A1 =
Cash in Hand
#5% 208 |4l
Drawings :
R IES R
Ajay
&y
Bijay
faem
Closing Stock
FEE HGS AN

P16/134

(5

(
L[R!
3,000

1,400
3,850

2,400
1,600
2,400
18,000
5,250

2,300

3,600
4,200

38,000

3,75,000

Credit Balances ¢
s 53
Capital :
‘-15121'-1 .
o 30,000
e
Bijay 20,000
fa=m
3,75,000
( Turn Qver )
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(6)

Prepare a Trading and Profit & Loss
Account for the year ended 31st March
2015 and a Balance Sheet as on tha;
date taking into consideration the
following information :

SoR PR feanal #2015 e 31 Wik
OIf¥Cy S8 [l IWOR A F-Rea B,

AS-CEIRDAR o1 W& o2 @ifive Tge-+m
S 4 (46l :

() On 29.02.2015, a fire broke out
in the godown and goods worth
¥7,000 were destroyed, goods
being insured, the insurance

company admitted a claim for
¥ 6,000

29.02.2015 iRty @™o wEFEY
wEe 2 W 7,000 5FE AMRE w8
25 | AT 9 WRE WS W @R
6,000 5T W12 272 FCI

(i) Reserve for Doubtful Debts is to
be maintained at 5% of Sundry
Debtors

Rt cmmm @'me 5 e sicreee
¥ feR e AR wAs

( Continued )

4+5+5=: 14

(b)

P16/134

(7))

What is ‘hire-purchase system’> What
are its important features? Distinguish
between hire-purchase system and
instalment-purchase system.

“sTul-g s’ R0 T S (R
B Ro Sw-TY e S RE-E RS
TS ol NPTz Trad T4 |

Or/ 5241

Nikhil purchased a machine on hire-
purchase system for € 1,12,000. Down
payment is to be made € 30,000 and the
remaining part is to be paid in three
instalments of 30,000 each at the end
of each year. Rate of interest is charged
at 5% per annum and Nikhil is
depreciating the machine at 10% per
annum on written-down value method.

Because of financial difficulties, Nikhil
after having paid down payment of
¢ 30,000 and first instalment at the end
of first year, could not pay second
instalment and the seller took
possession of the machine. Seller after
spending ¥ 1,700 on repairs, sold it
away for ¥ 62,000.

Show the Ledger Accounts in the books
of Nikhil and the seller to record the
transactions.

( Turn Over )
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S. (a)

P16/134

(8)

fffE 1,12,000 TR f

oo @ R o @c:?m?m
TRFAE M 30,000 51 mﬁﬁwm
=TT RS 30,000 B o151 Ry e
asﬁwmlawmwﬁS%wﬁﬁm .
10%%%%%@%@@%@

e =i seRer 9| o
WWﬁWW%ﬁ;ﬁmm
R aRemy R emmEr e
ﬂfwﬁﬁiﬁﬂwwﬁmﬁﬁﬂ%@rl?o;
TS GRS T, BT 62,000 BT
R& 11

E@ﬁmmwﬁﬁaw ©
e fczor 2w o

() What do you mean by ‘branch’ and

‘department’?
P ent’ 2+2=4

P W R’ e @2
(if) Distinguish between Branch

Accounts and Departmental
Accounts.

1 o1t W e Rorr qwe o9

NPT Bea 4 |

(i) How are the inter-departmental
transactions recorded in Depart-

mental Accounts?

R Ry wmsRemi CETTTTTR
T om0

{ Continued )

(9)

Or/|4q1

(b) The Lakhimpur Head Office supplies
goods to its branch at Jorhat at cost.
The branch sells the goods for cash and
on credit and remits the proceeds to
the Head Office promptly. The branch
expenses being met by the Head Office
by cheque. The following are the
transactions relating to the branch for
the year ended 31st March, 2015 :

R O TR GRS 791 2R T
T AT P | TR AW AE TS
o Rl SR wiest =l g T30 ST
CoA TR | F3 TR M I AP
w11 W fc | 2015 7@ 31 W6 Oii€ey W

Fq2F :
v (5=)
Stock at branch on 01.04.2014 60,000
01.04.2014 SR *RR TS BR
Debtors at branch on 01.04.2014 80,000
01.04.2014 SIRY R M
Goods sent to branch during the year 4,50,000
JRATHIS LA (AAS B
Total sales at branch
(including cash sales ¥ 2,20,000) 7,40,000
141 3 RS (Fam 7& 2,20,000 T2P7R)
P16/134 { Turn Qver )



(10 )

Goods returned by branch ¢
M 4] 2133 TR w1 = 20,00
Goods returned by customers

A AR R I 20,000
Collection from debtors

CRATARA =1 (ATl 1’ 420,000
Discount allowed

a1G1 fe 21 20,000
Bad debts written off

SRR 4 S 2 10,000

Cheque sent by Head Office towards the branch expenses -
*TIR A4 A% G4 IR 4100 1973 - '
Sa]aries 50,000
kSRR

Rent 25,000
S

Petty expenses 5.000

46
Ty 80,000
Stock at branch on 31.03.2015 90,000

31.03.2015 @Ifcy *1R T @™

Prepare Branch Account and goods sent
to Branch Account in the books of Head
Office. Also, prepare Branch Debtors

Account in a working note., 8+4+2=14
T FRIFR 438 A14R Rviet w=e =41 o

ﬂW&WWﬁWWIWW*ﬂW
CTAIRS f2omeer crgaa |

P16/ 104 { Continued )

6. (a)
(b)
P16/134

(11)

(i What is ‘minimum rent’ in Royalty
Account? Why is it important in
Royalty Account?
g fEoe fogres e’ @7 44944
fobre Y waga w149 42

(i) What conditions are to be satisfied

for recoupment of shortworkings? 4
afi BeAre weAféa aca fe @ v A
@i 24 7
(i) Distinguish between ‘Rent’ and
‘Royalty’. 4
I WE FGFAA qGE AP LA
Teaq 91 |
Or/ 994
Mohan Deka took a colliery from Jatin
Chaudhury on lease for a period of
15 years from lst January, 2008, on a
royalty of 16 per ton of coal raised
with a minimum rent of ¢ 80,000 per
annum and power to recoup short-
workings during the first four years of
the lease.
The annual coal raised were :
Year 2008—3000 tons
Year 2009—3500 tons
Year 2010—5000 tons
Year 2011—9000 tons
Year 2012—10000 tons
( Turn Over )
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(12 )

From the above particulars,
(i) Royalty  Account, (ij)
Chaudhury’s Account and (i)
workings Account in the
Mohan Deka.

pFEpa_re
Jatin
Short.
booksg of

S5+5+4<
A (TP T GURR R @B ey
2008@7@1@@%‘(@%«9@15%
@ fwe A TSI ey ey
80,000 9 ARG a0 wF afs 5y
Teoffts e 16 BF1 79O Feod R
ez 27 |

e P gem oI I oo e o
27 S AR S TR Sfem 2 |

IRF T AT AR -

2008 —3000 5=
2009 59—3500 B
2010 51—5000 &9
2011 59—9000 5
2012 5—10000 5%

14

TS ©UF [ (AIE (T T3S (i) TIFH
ferer, (i) 78m FRT Bt = (i) i
T 2o 2rge 41 |

( Continued )

1. (g

P16/134

Write ‘Correct’ or ‘Incorrect’ :

(13 )

( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

1x4=4
wm & ergm
() Unearned Income Account is a
liability.
Sefete S 2 (2% 9F O |

(i) Cost of goods sold on hire-purchase
is transferred to hire-purchase
Trading Account.

SIT-TE CFae A8 [F I (e 90
351901 CacR oTel-a fel-caoR 261 |

(i) Minimum Rent is also known as
‘Rock Rent’ in Royalty Account.

g JemE O e s (PR R |

(iv) When a partner is not able to meet
his liabilities, he is said to be
solvent.
cfea @ e S e e
sfaey sRace woEd =W, (9@ (08T
el e S1n 4 W |

( Turn Over )



(14 ) [ 15 )

Fill in the blanks : = =
®) U i 2. Write short notes on (any foun : 4x4=16
q :
Eiika 59 Gt foran (R e wif<dr)
(i) Valuation of inventories is (@) International Financial Reporting
accounted for as per the Standards (IFRS)
fiecounting] Standard, .. e {8 2fewm Tz (IFRS)
TGS T PRUES LIRS 2
= R fiﬂ; l — R (b) Instalment Purchase System
I SRS 5% T el
(i) Hire-purchase transactions are (c) Goods-in-transit
controlled by the Hire-Purchase Act JERS 2ME
of .
d) Lease
SIO-FAq (PR SO-3 3 @ Sre
-7 AR fafge |
(e) Rules of Garner vs. Murray
(@) Royalty paid on sales is debited to DIGIES N 9 ﬁ’m‘ﬂ?[i
Account.
FeP9 "G so@e “ifiony IR 3. (@) () What do you mean by the basic
f2o1°re (S5 w1 27 | concepts and conventions of
accounting? 2+2=4
(iv) .If 1n.vent01?y aF branch is shown at - & 4R WE Al {ﬁl’ﬁ &
invoice price instead of cost price, 2
then the account which is used for R
adjustment is Account. (i) Write a note on Accounting
S TGS AT I T - Standard Board set up in India. 4
SIferel Jore R e SHaEmaE oReHq Bme-fun Tme «if{em [ea aft

IRTS =€ o tzm B Bl ot |

P16/134 [Continued) P16/134 , ({ Turn Over)



ST e 471 AT Tems) 7 |
Or / 5241
(b) Akash and Bikash are partners of g
partnership business. The Trial Balance
of their firm as on 31st March, 2015
was as under :
R A [P 951 SR TR w3 |
2015 v/ 31 Wb® (SSERT T LfPER
7% fRermeig were fra weg =it
Trial Balance / &5@ f{e9g
Debit Balances i Credit Balances 4
Land and Buildings 40,000 Trading Account 60,000
Bl WFF W (Gross Profit)
Machinery 18,000 F-fI&Fy 2oy
W (35 =Tre)
Drawings : Capital :
A ; T
Akash 2,000  Akash 35,000
ST R ,
Bikash 3,500  Bikash 25,000
R R |
P16/134

(16 )

(iiy) Distinguish between Accountj
Standards and
Principles.

ng
Accoum_ing

Roo-RR 99w [EE BT

( Continued )

Debit Balances
b Bz
Salaries and Wages
TR S TG
Furniture

AN

Trade Expenses

RISEIE R

Sundry Debtors
fafdy o

Discount

T

Insurance

e
Advertising
R 9/
Cash at Bank
(A9 &1
Bills Receivable
efreny fae
Closing Stock

(on 31,03.2015)
FRE TGS oA
(31.03.2015 SIfTY)

P16/134

(17 )
¢ Credit Balances 4
ol (FISH 1?1@732 ol
3,700 Provision for
Doubtful Debts 800
6,500 CTEES 4l e
General Reserve 4,000
1,900 R &
Sundry Creditors 15,000
24,600 [ *MeqmE
Outstanding Wages 500
1,000 SzTE ¥«
Bank Loan 8,000
1,200  (on 01.10.2014)
@ A
3,000 (01.10.2014 WIRT)
2,9~00
4,000
36,000
1,48,300 1,48,300
( Turn Over )



(18 )
(19 )

Prepare a Profit & Loss Account ang

a : . L
Profit & Loss Appropriation Account for (iv) f’ro:;de :::liezre‘i;étlo: % 1;);/::/;,2&1)0:
the year ended 31st March, 2015 ang N an anh' ui lngd,@ o i (-m
Balance Sheet as on that date on machinery an ° p.a.

considering the following adjustments furniture
5+2+5=19 ff W €9 @/Fe - 10% TS,
“ifeq 8 V2% TES HE BRI
31 6, 2015 WS W@ “}l IWER A ‘@00""’@12/2@%%5[
4 FAS-ERE B A A - SRS SerS
. ol W TS OIS << Te-org (v) Write off Yath of advertising
TS {1 SRR, [{ean IR 2 w1 _
T R IR v S Reamet fea =l
() Write off bad debts ¥600 and
provide for doubtful debts @ 5% on
Femalning idebrors 4. (a) Distinguish between credit sale and sale
600 53 SgaRTE W B S|eeeH under hire'—purchase- system. Mention
SR A TE TG (7 o any three rights of hire seller and three
. A 9% rights of hire purchaser as laid down in
T RGN 7 <ffe a1 R st the Hire-Purchase Act, 1972,  5+3+3=11
TS T R % SU-TW FRes 1 [EH

() Provide for interest on capital @ 5%

per annum TEre A1 ANILIPR TCEY T | SIe-e Wi,

1972-% AHRE Sv-Rigel W oel-@FoR
SRFReT Jo4d $oe IRfd 5% 2c erorecq fofbis wigeRs e for |
S 4f<9 st

Or / 5141

() Provide for interest on bank loan

) :
@ 10% per annum (p) Kumarendra purchased a motor-
cycle on hire-purchase system from

(RF 4TSS =R 10% 29 7 4f7
Aol

P16/134 ( Continued ) P16/134 ( Turn Over )
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(20 )

M/s. Bora & Co. The terms of hijre.
purchase are :

T
Down payment 40,000
1st instalment 43,500
2nd instalment 39,000
3rd instalment 34,500

All instalments are payable at the end of
the year and each instalment includes

equal amount of cash price in addition -

to interest.

Prepare necessary Ledger Accounts in
the books of the Buyer.

FACTHR (66 341 Q% (PI1AI *[«1 93+ T69-
WW—WWWW|WW
E IR

& (o)
S ATy 40,000
A9 13f& ~Remy 43,500
s 6 “Afdvny 39,000
o R <y 34,500

e R IR s efieiy sl
PR 1 ofe fofee T aficas wom @19
S S 21 |

&R RIS gy 4fegm 3ol oFe
341 |

11

( Continued )

5. (a)

(21)

() What do you mean by inter-branch
transactions? Mention about the
different methods of recording such
transactions.

AR FCe qfetcst 6 qa1 2 Geeded

EErE Fifaa e dmfoE T
0

(i) Discuss about the main objectives
of Branch Accounts.

Wﬁwﬂa{mmﬁmzﬁm

Or / =<1

(b) Jorhat Head Office sent out goods to its

Golaghat Branch at cost plus 25%. The
branch remits all cash received to the
Head Office and all expenses of the
branch are met by the Head Office.

"~ From the following particulars, prepare

P16/134

(i) Golaghat Branch Account showing
the profit or loss at the branch,
(i) Goods sent to Branch Account and
(i) Branch Debtors Account in the
books of the Head Office :

@EE6 0 IR TR GIEH =140 @
TR TS 25 MO (S PR AN A
TR | 1 A IR SRCAER A% 4 40

( Turn Quer )
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(22 )

IRAULE (2 PCA W XA A AR Y
rflery 9z A | wHe i faaEdd o@ s
Pl RS (i) < Afddie A wrs
oMbl Afde cryaft cstiera X o,
(ii) e caAfds sjarayd favlel S (i) =9
M (26191 2148 41 :

€ (v
Stock at branch on 01.04.2014 (Invoice price) 17,500
01.04.2014 SIfCY NI oS NG (b1l yer)
Stock at branch on 31.03.2015 (Invoice price) 18,750

31.03.2015 WIfAT 14 TGS HYI (vleflel Y11

Goods sent to branch during the year
(Invoice price) 13,75,000

FRACHIS X141 2 o\ (SR o),

Goods returned by the branch (Invoice price) 75,000
M =1 fFae, <fehiar =g (b e)

Cash Sales 3,00,000
9 fad
Credit Sales 9,98,750
3 4
Goods returned by customers 40,000

2194 4| firae, oz) ~aqrag

P16/134 ( Continued )

(23)

e (6)

Discount and allowances to customers 60,000

ABEP 241l 4| G W A5

Bad Debts
S Al

5,000

Cash received from customers 10,45,000 -
H1ZPq ~[41 A1 Aol

Sundry Debtors as on 01.04,2014 2,40,000
01.04.2014 @ifdcy fafay =mm

Cheques sent to branch :
wiita e fdeal 2°a

For Salary 1,00,000

WA A

For Rent
BB M9

24,000

For Sundry Expenses 25,000
fafa apra qraw 1,49,000

6. (a) (1)

(ii)

P16/134

What is ‘minimum rent’ in Royalty
Account? Why is it important in

Royalty Account? 3+3=6
waaad f2mee fae. 4’ 7 Teeaa
f35191@ B[ BFga 199 5 2

What do you mean by ‘recoupment
of shortworkings’? What conditions
are to be fulfilled for recoupment of
shortworkings? 2+3=5

{ Turn Over )



(b)

P16/134

(24)

T3-S weff” e & oqmo
Z3-Beerm weffeq & 6 56 o
FfRaerai 2 2

Or / 91

Raju took a lease of a mine on
01.01.2011 for a period of 20 years.
Royalty payable is ¥ 1 per ton subject to
a minimum rent of ¥ 12,000 per annum.
The shortworkings
during the first three years of the lease.
The output was :

are recoupable

Tons
Year 2011 NIL
Year 2012 4000
Year 2013 20000
Year 2014 40000

Give Journal Entries in the books of
Raju to record the above transactions.

AGE GO FFARM  01.01.2011 @R
20 TR IR Awe (dfeE | qRE ey
e 12,000 5FA TS Afs BTe 1 Gaie
FI ARCT R A 1 2w R amae 2%
ST W e wfem wfed |

11

{ Continued )

7. (a)
(b)
P16/134

(25)

UL /[ =AY I I AR G-
4999 .

b
2011 5 A 2
2012 5 4000
2013 5 20000
2014 40000
e Be TT SIPR wa ARfER e

What do you mean by ‘amalgamation’
What are the different methods of
amalgamation? Mention about the
objectives and advantages of
amalgamation.

‘qefae’ oA & g gwlaeer f[fen
oz & R goleew Tow W@

SRR T 39 |

Or / "<

In a partnership firm, Arun and Barun
are sharing profits and losses in the
ratio of 5: 3. They decided to dissolve
their firm as on 31st March, 2015. Their
Balance Sheet as on 31st March, 2015

is given below :

( Turn Over )
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(26 )

0 S dfevEe W uE IR
TS~ (PR SeS 5 @ 3. 2015 5 31 b
SRS (SSTERA TP TR O IS
= 1 2015 5@ 31 Wb Oy (@SR RS

o] were il 2
Balance Sheet / $58-94

(27 )

Creditors were paid 9,120 in full
settlement of their claim. Realisation
expenses amounted to ¢ 110. A bill for
¥ 130 due for sales tax was received
during the course of realisation and this
was also paid. Close the books of the

. firm. 11
Liabilities 4 Assels
o a0 = I STfSCa oTe R wed S 2 ¢
Creditors 9,316 Goodwill 4,000 ¢ (v0)
NEAME A = 2,600
Loan from Arun 3,684 Furniture 1,000 H59F 900
HFT {1 49 IR G GIR I 8,300
Loan from Barun 600 Machinery 2,000 TR 10,200
T [ A TS TS 8,800
Capital : Inventory 9,200
o - HIPER oeAmEe e S e A 9,120 B
Arun 8,000 Debtors 10,000 “RTNY 9 T | SWESI I 2F 110 5 |
i 130 Sor K& w39 o 3 R =i =if<ens 41
Barun 5,400 Cash 800 ) R 4 |
I Wﬂéﬂ?{zﬁﬁ ﬂ?lﬂﬂf’z AN
¥ 13,400 9% 4+ E
27,000 27,000 * % %
The assets realised as follows :
?’
Goodwill 2,600
Furniture 900
Inventory 8,300
Debtors 10,200
Machinery 8,800
P16/134 ( Continued )
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